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Note ! (i) This Question Booklet contains 40 Multiple Choice Questions followed by
10 Short Answer Questions. '

(i) Attempt as many MCQs as you can. Each MCQ carries 3 (Three) marks.

" 1(One) mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question. If more than one alternative
answers of MCQs seem to be approximate to the correct answer, choose the
closest one.

(iii) Answer only 5 Short Answer Questions. Each question carries 16 (Sixteen)
marks and should be answered in 150-200 words. Blank 5 (Five) pages
attached with this booklet shall only be used for the purpose. Answer each .
question on separate page, after writing Question No.

RET/{4/Test B/633 (1) P.T.O.



Biochemistry | ' Code No. : 633

1. Decrease in biqdiver‘sity in tropical countries is mainly due to :
(1) Urbanization (2) Deforestation
(3) Pollution : (4) Soil erosion

2. Where does glycolysis occur in a cell ?
(1) Chloroplast (2) Mitochondria (3) Cytoplasm (4) Golgibody

3. The process that accounts for transfer of genetic information from DNA to RNA
is called as:

(1) Translocation (2) Translation (3) Transformation (4) Transcription

4. Leydig's cells produce |
(1) Thyroxine ' (2) Growth hormone
(3) Testosterone (4) Progesterone |

9. A tumor suppressor gene which is known as "Guardian of the genome" is :
(1) myc (2) P® (3) SrC (4) H-Ras

6. Which is the function of ini.erleukins ?
(1) Stimulation of wound healing |
(2) Treatment of infertility
(3) Dissolving blood clot
(4) Enhancemén_t of action of immune éystem

7. Which of the following is not an anticoagulant ?
(1) Heparin _ (2) Protamine sulphate
(3) Warfarin ' (4) Hirudin

8. Which of the following is not a part of triple response.?
(1) White reaction (2) Redreaction (3) Wheal (4) Flare
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9; Virus envelope is known as :
+ (1) Capsid (2) Virion (3) Nucleoprotein (4) Core

§ b
10.| Peptide synthesis inside a cell takes place in : _ ‘
(1) Mitochondria (2) Chloroplast (3) Ribosomes (4) Chromoplast

11, Sarcosine is a metabolic product derived from :

() Glycine (2) Methionine  (3) Arginine (4) Alanine

12 BLAST ( Basic local alignment search tool) is not employed for analysis of :

(1) Proteins (2) DNA (3) RNA (4) Lipids
13. - Sequencing of the first human genome was completed in : |
(1) 2003 (2) 2004 (3) 2001 (4) 2007

14, Whlch of the following organ is not involved in calcium metabollsm ?

(1) Kldney (2) Gut ~ (3) Pancreas ~ (4) Bone
15, Whlch class of MHC antigen is pnmarzly expressed on B lyrnphocytes ?
(I) L = @ o . (3) I (@) Al
16. ! Deanunaﬁon‘of cytosine produces :
(1) Uracil ~ (2) Inosine (3) Thymine (4) Adenine

17, Which farnino acid is most likely to be found in the interior of a protein ?
(1) Glutamic Acid (2) Lysine (3) Histidine (4) Leucine
18, Whlch c:f the following is responsible for Alzheimer's disease ?

(1) PrP‘SC Protein (2) PrPc Protem (3) AmylmdB | (4) Parkin

19.  Which of the followmg DNA mutahons results in insertion of an inappropriate

stop codon ? |
(1;) Frameshift mutation - (2) Nonsense mutation
(3) Misésense mutation (4) Silent mutation
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20.

21

22.

23.

24,

25.

26.

Alpha-linolenic acid is :

(1) Omega-3 fatty acid | (2) Omega-6 fatty acid

(3) Saturated fatty acid - (4) Trans fatty acid

‘Which of these promotes class—sthchmg of antibodies ? |

(1) Interferon Gamma =~ (2) Tumour Necrosis Factor
(3) Interleukin 1- o (4) Interleukin 4

Which of these is a marker for B cells ?

(1) CD59 (2) CD19

(3) CD28 . (4) CD25

All are true about G-protein coupled receptors except :

(1) G-protein coupled receptors are largest superfamily of cell surface
receptors

(2) They typically have six helices that transverse the membrane

(3) G - protein act as mlub1tory and excitatory because of difference in alpha
subunit

(4) The function of GPCR is to transduce signals that induce a cellular response
to the environment

An example of a tumour suppressor gene is :

(1) myc @ fos - (3) Ras (4) Rb
Vitamin By, acts as co-enzyme fo which one of the follbwing enzyme ?

(1) Isocitrate dehydrogenase

(2) Homocysteine me{hyl transferase

(3) Glycogen synthase

(4) Glucose-6-phosphata dehydrogenase

The hpoprotem with fastest electrophoretic mob111ty and lowest triglyceride
content is : :

%

(1) VLDL " @DL (3 LDL (4) HDL
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27 Proteins targeted for destruction 1n eukaryotes are covalently linked to :
I :(1) Clathrin .' (2) Pepsin (3) Laminin (4) Ubiquitin
28.4 Wl'uch of the following substance is responsible for carcinoid éyndrome ?
. 4] Serotonin 2 Tryptamin.e ) ( ) Tyramine (4) Histamine |
| 29 _thch of the following elements is known to enhance the body's ability to

handle oxidative stress ?

®

(1) Calcium (2) Iron (3) Potassium '(4) Selénium

30.. All of the following tissues are capable of using ketone bodies except :

- (1) Brain | - (2) Réhal cortex -
~ (3) Red blood cells . (4) Cardiac Muscle
3. The buffering capacity of a buffer is maximum at pH equal to
(1) 05 (2) pKa (3) pKa+1l (4) 2pKa

» 32 All is true about glutathione exce'pt':' |

(1) Itisa t.ripeptide‘

: (2} It converts hemoglobinto methemaglobm

' @) It con]ugates xenobiotics

@) It scavenges free radicals ancl*supéro’xide ions

33. The folléWing_s;eparat_ion-technique depends on the molecular size of the
proteiri :
(1) Thin-layer chromatography
() Isoelectric focusing
(3) Gel Filtration chromatography
5 (4) Chromatography on a diethylaminoethyl (DEAE) cellulose column |
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34.

35.

36.

37.

38.

39.

40.

A competitive inhibitor of an enzyme :

(1) Increases Km wit_houtlaffecting Vmax
(2) Decreases Km without affecting Vmax
(3) Increases Vmax without affecting Km

(4) Decreases both Vmax and Km

Which of the following enzyme is stable at acid pH ?

(1) Pepsin (2) Chymotrypsin
(3) Trypsin * (4). Carboxypeptidase

Dinitrophenol causes :
(1) Inhibition of ATP synthase |
(2) Inhibition of electron transport

"(3) Uncoupling of oxidation and phosphorylation

(4) Accurnulation of ATP

Phenylalanine is the precursor of the following molecules, except :

(1) Tyrosine (2) Epinephrine.- (3_) Thyroxin (4) Melatonin

Sources of the nitrogen in the urea cycle are :

(1) Aspartate and ammonia (2) Glutamafe and ammonia
(3) Arginine and ammonia _ (4) Uric acid and ammonia
If urine sample darkens on the s_tandipg, the most likely condition is :
(1) Phenylketonuria e '. @ Alkaptonuria

(3) Mapie syrup urine disease (4) Tyrosinemia

Pyruvate can be converted directly into all the following except :

(1) Phosphoenol pyruvate (2) Alanine
(3) Acetyl CoA (4 Lactate
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Attqimpt any five questions. Write answer in 150-200 words. Each question carries
16 marks. Answer each question on separate page, after writing Question Number,

1. ‘:‘Metabolism of high density lipoproteins.
2,  MicroRNA. | -

3. Cene Cloning.

4. Appli@ﬁons of ﬁow cytometry. .‘

5. fnhibitors of respiratm;y cﬁain.

6. Super—secondary structure of proteins.
7. Real-time PCR,

8.  Proteasome.

9.  Regulation of intracellular calcium.

10.  Post-translational modification of proteins.
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